	I know that 7 and 3 is 10.  How can I find 8+3?
	Together Sam and Tom have 19 football stickers.  Tom has 8 stickers.  How many stickers does Sam have?  Write a number sentence you could use to solve the problem.

	Robert has five more cherries than John.  John has 11 cherries.  How many does Robert have?
	Owen has 45 football cards, he gives 22 to his friend Jack.  How many does he have left?

	Sarah has 15 sweets and Lottie has 12 sweets.  How many sweets have they got altogether?
	I buy a bar of chocolate for 36p.  I give the shop keeper 58p, how much change will I get?

	Lucy has 12 more lollipops than Beccy.  Beccy has 8 lollipops.  How many does Lucy have?
	A jug holds 58ml of water.  If I pour a 23ml into my cup, how much will be left in the jug?



	56+45=
	22-12=

	32+18=
	74-33=

	12+29=
	45-13=

	23+66=
	86-43=

	45+67=
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	66+12=
	54-13=

	12+39=
	34-13=

	15+46=
	23-13=



